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1.14

1.14.1

1.15

1.15.1

1.15.2
o
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2)

B (kN/m) 0.000
tang . 0.700
€s B
m (KN/m?)
1/6 1.500 1000.000 1.100
1/3 1.200 1500.000 1.000
B (m
[H (m) es My V
Ms (kN.m)
v (kN)
(N/mm?)
O O s« T a T 2
1.00 8.000 160.000 0.390 1.700
1.50 12.000 300.000 0.585 | 2.550
(N/mm?)
O a (o T a T
1.00 8.000 160.000 0.390 1.700
1.50 12.000 300.000 0.585 2.550
T a
T a2
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1
4
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7
2)
™ Vi Xi Vi Yi
x x Vi(mg) i vi ] ] 1 1
1 0.250x 1.900x  1.000 0.475 3.625 1.250 1.722 0.594
2 1/2x 0.050x 1.900x 1.000 0.047 3.767 0.933 0.179 0.044
3 1/2x 0.050x 1.500x 1.000 0.038 0.033 0.800 0.001 0.030
4 0.250x 1.500x 1.000 0.375 0.175 1.050 0.066 0.39%4
5 1/2x 0.100x 0.100x 1.000 0.005 3.467 0.333 0.017 0.002
6 1/2x 0.100x 0.100x 1.000 0.005 0.333 0.333 0.002 0.002
7 3.800%x 0.300x 1.000 1.140 1.900 0.150 2.166 0.171
b2 2.085 4.153 1.236
X6 = Vi Xi I Vi 4.153 2.085 1.992 ()
Y6 I Vi Yi o ZVi 1.236  2.085 0.593 (m)
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2)
™ Vi Xi Vi Yi
y y Vi) " - i Xi i Vi
1| 1/2x 0.022x 0.850x 1.000 0.009 3.793 0.867 0.036 0.008
> 0.009 0.036 0.008
X6 T Vi Xi T Vi 0.036  0.009 3.793 (m)
YG > Vi Yi 2 Vi 0.008 0.009 0.867 (m)
)
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1)
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i ) | !
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| ) | |
N N
o P!
| b
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| b
N b
_____________ i
| |
R, -
2)
™ Vi Xi Vi Yi
/03 1 1 1 1
x x vim) Xi Yi
1| 1/2x 0.017x 0.500x 1.000 0.004 0.006 0.633 0.000 0.003
2 0.004 0.000 0.003
XG > Vi Xi 2 Vi 0.000 0.004 0.006 (M)
Y6 I Vi Yi TV 0.003  0.004 0.633 (m)
®3)
[1] ( ) ( )
1)
i__'l
Lo
= | !
| |
| |
1 |
| |
] |
| |
. : |
| |
| |
| |
! |
|
| |
|
2)
™ Vi Xi Vi Vi
x x Vi(ms) i Vi 1 1 1 1
1| 1/2x 0.100x 0.100x 1.000 0.005 0.367 0.367 0.002 0.002
2 0.100x 1.300x 1.000 0.130 0.350 1.050 0.045 0.136
3 3.000x 1.400x 1.000 4.200 1.900 1.000 7.980 4.200

FORUMS8



™ Vi Xi Vi Yi
<3 i i i i
x vi(m) Xi Yi
4| 1/2x 0.100x 0.100x 1.000 0.005 3.433 0.367 0.017 0.002
5 0.100x 1.300x 1.000 0.130 3.450 1.050 0.448 0.136
z 4.470 8.493 4.477
XG 2 Vi Xi 2 Vi 8.493 4.470 1.900 (m)
YG > Vi Vi > Vi 4.477 4.470 1.001 (m)
2.3
€Y
[1]
W v v X
(kN) (m
24.500 x 0.945 23.153 2.102
24.500 x 1.140 27.930 1.900
[2]
W % v X
(kN) (m
24.500 x 0.945 23.153 2.102
24500 x 1.140 27.930 1.900
H W kh Y
(kN) (m
23.153 x 0.12 2.778 1.127
27.930 x 0.12 3.352 0.150
@
[1] ( )
1)
Hr=1. 150
v
Hf=0.800 -
ava
Pf=8.000
Pr=11.500

HF  0.800 (m)

FORUMS8




Hr 1.150 (m)

Pf 8.000 (kN/m?)
Pr 11.500 (kN/m?)

Pf4+Pr
U= ) *Bj+Bc+ A = 37.050 (kN)
PFf+2 « Pr ,
X = ———— +Bj = 2.014 (m)
3« (PT+Pr)
Bj Bj 3.800 (m)
Bc Bc 1.000 (m)
A A 1.000
[2] ( )
1)
Wy v X
(kN) (m)
( )| 10.000 x 4.470  44.700 1.900
2)
Fi=1.400 _1
r =
Hr=1.150
v
Hf=0.800 =
<
P£f=8.000
Pr=11.500
HFf 0.800 (m)
Hr 1.150 (m)
Pf 8.000 (kN/m?)
Pr 11.500 (kN/m?)
Pf+P
L= L .Bj+Bc- A = 37.050 (kN)

FORUMS8
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Pf+2 - Pr

= ——+Bj = 2.014 (m)
3+ (Pf+Pr)
Bj Bj 3.800 (m)
Bc Bc 1.000 (m)
A A 1.000
[31 ( )
1)
Wy v X
(kN) (m
( )| 10.000 x 4.470  44.700 1.900
H W kh Y
(kN) m
( )| 44.700 x 0.120  5.364 1.001
2)
Fi=1.400 —_W
(__ =z
Hr=1. 150
VA
HF=0.800 =
~
Pf=8. 000
Pr=11. 500

HF
Hr
Pf+Pr )
U = ) *Bj+Bc- A =

0.800 (m)
1.150 (m)

Pf 8.000 (kN/m?)
Pr 11.500 (kN/m?)

37. 050 (kN)

FORUMS8
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Pf+2 « Pr .
= ———— .Bj = 2.014 (m)
3« (Pf+Pr)
Bj Bj 3.800 (m)
Bc Bc 1.000 (m)
A A 1.000
Q)
[1]
(m) (kN.m)
Ni Hi
(kN) (kN) Xi Yi Ni Xi Hi Vi
51.083 0.000 1.992 0.000 101.740 0.000
( 0.095 0.000 3.789 0.000 0.360 0.000
( 0.042 0.000 0.000 0.000 0.000 0.000
51.220 0.000 102.100 0.000
[2]
(m) (kN.m)
Ni Hi
(kN) (kN) Xi Yi Ni Xi Hi Vi
51.083 0.000 1.992 0.000 101.740 0.000
( 0.095 0.000 3.789 0.000 0.360 0.000
( 0.042 0.000 0.000 0.000 0.000 0.000
( 44.700 0.000 1.900 0.000 84.930 0.000
95.920 0.000 187.030 0.000
[3] (
(m) (kN.m)
Ni Hi
(kN) (kN) Xi Yi Ni Xi Hi Vi
51.083 6.130 1.992 0.593 101.740 3.634
( 0.095 0.000 3.789 0.000 0.360 0.000
( 0.042 0.000 0.000 0.000 0.000 0.000
( 44.700 5.364 1.900 1.001 84.930 5.372
95.920 11.494 187.030 9.003
2.4
[1]

FORUMS8
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Xp 3.808 m

yp 0.000 m

H 2.200 m

H1 1.050 m

H2 1.150 m

a 1.507 °
S 18.000 kN/m’
(0] 25.000 °

B 0.000 °

5 2 3¢ 16.667 °

X 2
G
H,

(=
tan!|— | ——|[—
H, 7 \ Hy

0.856\" 2 0.856\°|  [0.856\ 2 [0.856
=1 -1+ tan ——

2.200/ « 2. 200 2.200/ 7 \2.200
= 0.63183

LR E OB LS E o
g = vy *H 1,
= 18.000X1.111X0. 63183
12.637 kN/m?

X (m) X1 X2 2

X1 (m), X1 0.300
X2 m), X2 1.111
H, (m)

He He  Hi(m)

Ho m H 0.500

H: (m) H, q v 0.611
q (kN/m?) g 11.000

cosz(d)—oa)

sin(¢ + 6) *sin(¢p — B 2
cos’a *cos(a+98) « |1+
cos(a+98) +cos(a—8

cos’(25.00° —1.507° )

cos®l,507° - cos(1.507° —+16.667° )
1

X

2
i+ sin(25.00° +16.667° ) - sin(25.00° —0.000°
cos (1.507° +16.667° ) + cos(1.507° —0.000°
0.3717

pl g K  12.637x 0.3717  4.696 kN/m’

FORUMS8
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p2= K+ ys+Hl+pl
= 0.3717X18.000X 1. 050+4. 696
11.721 kN/m?

p3= K+ (ysat—yw) » H24+p2
= 0.3717X (19. 000—10. 000) X 1.1504+11. 721
15.567 kN/m?

1 1
Pl1= o « (pl+p2) - HL = EX( 4,696+ 11.721) X 1.050 =  8.619 kN

1
P2= — - (p2+p3) - H2 = EX( L1721+ 15.567) X 1.150 15.691 kN

P P1 P2 8.619 15.691 24.310 kN

Ph P cos(a &) 24.310x cos( 1.507°  16.667° ) 23.097 kN

Pv P sin(a &) 24.310x sin( 1.507° 16.667° ) 7.582 kN
2+ pl+p2 H1

Mi= pl- [— 202 0D Ly
pl+p2 3

2X4.696+11.721 _ 1.050
= 8.619X X +1.150
4,696+ 11. 721 3
13.790 kN.m
2+p2+p3 H2
Mo= pg . [ TPY 22
p2-+p3 3
2X11.721415.567 _ 1.150
= 15.691X X
( 11. 721+ 15. 567 3 )
8.599 kN.m

M1+M2 13. 790+8. 599
Ho = = = 0.92l m
P1+4+P2 8.619+15. 691

X Xp Ho tana 3.808 0.921x tanl.507° 3.784 m
y yp Ho 0.000 0.921 0.921 m

FORUMS8
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L ______________________________ \
Xp -0.010 m
yp 0.000 m
H 1.700 m
H1 0.900 m
H2 0.800 m
a 1.909 °
Yy s 18.000 kN/m®
0] 25.000 °
B 0.000 °

5 2 3¢ 16.667 °

cosz(d)—oa)

sin(¢ +6) * sin(dp — 3 2
cos’a *cos(a+98) « |1+
{ X/cos(a-ﬁ-ﬁ)'cos(a—ﬁj

cos?(25.00° —1.909° )

cos’1.909° - cos(1.909° +16.667° )
1

X

2

T+ sin(25.00° +16.667° ) - sin(25.00° —0.000°
cos (1.909° +16.667° ) * cos(1.909° —0.000°
0.3746

pl q K 1.000x 0.3746 0.375 kN/m?

p2= K+ ys - Hl+pl
= 0.3746X18. 000X 0.900+0. 375
6.443 kN/m?

FORUMS8
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p3=

P1

P2

Ph

Pv

K+ (ysat—yw) « H2+p2
0. 3746 X (19. 000—10. 000) X 0. 800+6. 443
9.140 kN/m?

1
5 (p1+p2) +Hl = EX( 0.375+ 6.443) X 0.900 =  3.068 kN
1 1
5 (p2+p3) +H2 = EX< 6.4434+ 9.140) X 0.800 =  6.233 kN
P1 P2 3.068 6.233 9.301 kN
P cos(a 9d) 9.301x cos( 1.909°  16.667° ) -8.816 kN
P sin(a 9d) 9.301x sin( 1.909°  16.667° ) 2.963 kN

2 pldp2  H
Pl - (L-—er)

pl+p2 3
2X0.375+6.443  0.900
3. 068 X X +0. 800
0.375+6. 443 3
3.424 kN.m
2+ p2+p3 H2
P2 . £t babs 2
p2+p3 3
2X6.443+9. 140  0.800
6.233X X
6.443+9. 140 3
2.350 KN.m
M1+M2 3.424+2. 350
= = 0.621 m
P1+P2 3.068+6. 233

Xp Ho tana

yp Ho  0.000 0.621  0.621 m

-0.010 0.621x tan1.909°

0.011 m

—————————

FORUMS8
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pl

p2=

H 1.700 m
H1 0.900 m
H2 0.800 m
o 1.909 °
ys  18.000 kN/m’
) 25.000 °
B 0.000 °

e} 2 3¢ 16.667 °

cos’( ¢+ )

, sin(¢p+6) + sin(¢ + B
cos’a *cos(a—08) + |1—

2

cos(aw—08) *cos(a— 1R

cos’(25.00° —+1.909° )

c0s*1.909° -+ cos(1.909° —16.667° )
1
X
2
. sin(25.00° +16.667° ) * sin(25.00° —+0.000°
cos(1.909° —16.667° ) » cos(1.909° —0.000°

3.8764
qg K 1.000x 3.8764 3.876 kN/m?
K+ ys+Hl+pl

= 3.8764X18.000X0.900+3. 876
66.674 kN/m?

Pl1=

Ph

K+ (ysat— yw) » H24p2
= 3.8764 X (19. 000—10. 000) X 0. 800+ 66. 674
94.584 kN/m?

P1 P2

P cos(a

1
— - (pl4+p2) -Hl = EX< 3.8764+ 66.674) X 0.900 =

1
— « (p2+p3) -H2 = 5X< 66. 674+ 94.584) X 0.800 =

31.748 64.503 96.251 kN

5) 96.251x cos( 1.909°  16.667° )

31. 748 kN

64. 503 kN

-93.076 kN

FORUMS8
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[2] ( )

_ 0.856\" 2 0. 856
2.200/ « 2. 200
= 0.63183

T E OB S E
g = vy *H 1,
= 18.000X1.111X0.63183
12.637 kN/m?

X m X1 X2 2
X1 my, x1
X2 (m), X2
H, (m)

He Ho  Hi(m)

Ho (m Ho  0.500

H, (m H qy
q (kN/m?) g

Xp 3.808 m
yp 0.000 m
H 2.200 m
H1 1.050 m
H2 1.150 m
a 1.507 °
y s 18.000 kN/m?
® 25.000 °
B 0.000 °

3¢ 16.667 °

‘| [0.856 2
tan _—
2. 200 n

0.300
1.111

0.611
11.000

0. 856
2. 200

|

FORUMS8
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cos’(¢p—a)

K fr—
Sin(6 +0) -sin(6—B)
cos’a *cos(a+98) « |1+
cos(a+98) *cos(a—p
cos?(25.00° —1.507° )
cos®l.507° - cos(1.507° —+16.667° )
1
X
2
. sin(25.00° +16.667° ) - sin(25.00° —0.000°
cos(1.507° +16.667° ) « cos(1l.507° —0.000°
0.3717
pl g K 12.637x 0.3717 4.696 kN/m?

p2= K+ ys+Hl+pl
= 0.3717X18.000X 1. 050+4. 696
11.721 kN/m?

p3= K+ (ysat—yw) - H24+p2

= 0.3717X (19.000—10. 000) X 1. 150+11. 721

15.567 kN/m?

1 1
Pl1= 5 « (pl+p2) -+ Hl = EX( 4.696+ 11.721) X 1.050 =

1
pP2= E « (p2+p3) -H2 = EX( 11. 7214 15.567) X 1.150 =
P P1 P2 8.619 15.691 24.310 kN
Ph P cos(a &) 24.310x cos( 1.507°  16.667° )
Pv P sin(a &) 24.310% sin( 1.507° 16.667° )
2+pl+p2 HI

Ml= Pl - 2-pltp2 — 4H2

pl+p2 3

2X4,.696+11. 721 1. 050
= 8.619X X +1. 150
( 4.696+11. 721 3
13.790 kN.m

8.619 kN

15.691 kN

23.097 kN

7.582 kN

FORUMS8
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2+ p2+p3 H2
M2= P2« |——————— « —
p2+p3 3
2X11.721+15.567  1.150
= 15.691X X
( 11. 721+ 15. 567 3
8.599 kN.m

ML 4M2 13. 790+8. 599
o = = = 0.921 m
P1+4P2 8.619415. 691

X Xp Ho tana 3.808 0.921x tanl.507° 3.784 m
y yp Ho 0.000 0.921 0.921 m

7
|

——————————

7.582

——— e

Xp -0.010 m

yp 0.000 m

H 1.700 m

H1 0.900 m

H2 0.800 m

a 1.909 °
y s 18.000 kN/m®
(0] 25.000 °

B 0.000 °

o 2 3¢ 16.667 °

FORUMS8
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cos’(¢p—a)

K fr—
Sin(6 +0) -sin(6—B)
cos’a *cos(a+98) « |1+
cos(a+98) *cos(a—p
cos?(25.00° —1.909° )
cos®l.909° - cos(1.909° —+16.667° )
1
X
2
. sin(25.00° +16.667° ) - sin(25.00° —0.000°
cos(1.909° +16.667° ) « cos(1l.909° —0.000°
0.3746
pl g K 1.000x 0.3746 0.375 kN/m®

p2= K+ ys+Hl+pl
= 0.3746X18. 000X 0. 900+0. 375
6.443 kN/m?

p3= K+ (ysat—yw) - H2+p2

= 0.3746 X (19. 000—10. 000) X 0. 800+6. 443

9.140 kN/m?

1 1
Pl1= 5 « (pl+p2) -+ Hl = EX( 0.375+

1
p2= 5" (p2+p3) - H2 = EX( 6. 443+
P P1 P2 3.068 6.233 9.301 kN
Ph P cos(a &) 9.301x cos( 1.
Pv P sin(a &) 9.301x sin( 1.
2+ pl
pl+p2 3
2X0.375+6.443  0.900
= 3.068X X
( 0.375+6. 443 3
3.424 kN.m

6.443) X 0.900 =

9.140) X 0.800 =

909°  16.667° )

909°  16.667° )

+0. 800

3. 068 kN

6.233 kN

-8.816 kN

2.963 kN

FORUMS8



- 21 -

2+ p2+p3 H2
Mo = pg.(#._)

p2+p3 3

2X6.443+9. 140  0.800
= 6.233X X

( 6.44349. 140 3 )
2.350 kN.m

M1+M2 3.424+2. 350
o = = = 0.621 m
P1+P2 3.068+6. 233

Xp Ho tana -0.010 0.621x tanl.909° 0.011 m
yp Ho 0.000 0.621 0.621 m

P I

— P

| -

| [ \

| [ 1

| by

-8. 316 % : : l

N !

o

[31 ( )
Xp 3.808 m
yp 0.000 m
H 2.200 m
H1 1.050 m
H2 1.150 m
a 1.507 °
Yy s 18.000 kN/m’

® 25.000 °
B 0.000 °

o 1 29 12.500 °

X \° o2 X\ (X 2 (X
I = 1+ (— | —— {1+ | jtan’[— | ——[—
H., T H, H, m \H,
0.550\" 2 0.550\°| [0.550) 2 [0.550
= 1+ -1+ tan ——
2. 200 v 2. 200 2.200) & \2.200
= 0.73764

FORUMS8
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T E OB S E q
Qv = v ° Hs * IW
= 18.000X0.500X0. 73764

6.639 kN/m’

X (m) X1 X2 2

X1 (m), X1 0.300
X2 m), X2 0.500
Hy (m)

He Ho  Hi(m)

Ho (m) He 0.500

H: (m) H, q v 0.000
q (kN/m?) g 0.000

0 tan™kH tan™0.12 6.843 °

cos’(¢g—a—86)

sin(6+0) sin(6—B—10)
cos(ae+86+8) »cos(a— B
cos?(25.00° —1.507° —6.843° )

cosb. 843° - cos’l.507° - cos(l.507° +12.500° +6.843° )
1

cos B *costa +cos{a+0+6) - {l—i-\/

X
2
i+ sin(25.00° +12.500° ) + sin(25.00° —0.000° —6.843°
cos (1. 507" +12.500° +6.843° ) + cos(1.507° —0.000°
0.4704
¢ B 6 0 sinfp B 06) 0

pl g K  6.639x 0.4704  3.123 kN/m’

p2= K+ ys+Hl+pl
= 0.4704X18. 000X 1.050+3. 123
12.014 kN/m’

p3 p2 12.014 kN/m?

pd= K + (ysat— yw) » H24+p3
= 0.4704 X (19.000—10. 000) X 1. 150+12. 014
16.883 kN/m’

FORUMS8
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P2=

1
— + (pl4+p2) +Hl = EX( 3.1234 12.014) X 1.050 =

1
— « (p3+pd) -H2 = EX< 12. 014+ 16.883) X 1.150 =

P P1 P2 7.947 16.616 24563 kN

Ph

Pv

y

P cos(a &) 24.563x cos( 1.507°  12.500° )

P sin(a &) 24.563x sin( 1.507° 12.500° )

2+pl+p2 HI
pr- [P 2
pl+p2 3
2X3.123+12.014 % 1. 050
3.123+12.014 3
12.493 kN.m
2+p3+pd H2
by . (23Dt H2
p3+p4 3

7.947X ( +1. 150)

2X12.0144+16.883  1.150
16. 616 X X
12. 014+ 16. 883 3

9.022 kN.m

M1-+M2 12. 493+9. 022
= = 0.876 m
P1+P2 7.947416.616

xp Ho tana 3.808 0.876x tanl.507° 3.785 m
yp Ho 0.000 0.876 0.876 m

9
|

S ——————————
——— e e

FORUMS8
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Xp -0.010 m
yp 0.000 m
H 1.700 m
H1 0.900 m
H2 0.800 m
a 1.909 °
ys 18.000 kN/m?
(0] 25.000 °
B 0.000 °

e} 1 2¢ 12.500 °

0 tan™kH tan™0.12 6.843 °

cos’ (¢ —a—20)

\/sin((j)-l-ﬁ) -sin(d)—B—sz
1+

cos B *costa +cos{a+0+6) -
cos(a+06+0) -cos(a—2§

cos’(25.00° —1.909° —6.843° )

cosb. 843° -+ cos’1.909° -« cos(1.909° +12.500° +6.843° )
1

X

2
N sin(25.00° +12.500° ) - sin(25.00° —0.000° —6.843°
1
cos(1.909° +12.500° +6.843% ) - cos(1.909° —0.000°

0.4734

o B 6 0 sinfp B 6) 0
pl gq K 0.000x 0.4734 0.000 kN/m?

p2= K+ ys+Hl+pl
= 0.4734X18. 000X 0.900+0. 000
7.670 kN/m?

p3  p2 7.670 kN/m?

pd= K « (ysat— yw) » H24+p3
= 0.4734 X (19. 000—10. 000) X 0. 800+ 7. 670
11.078 KkN/m?

1 1
Pl= 5 (pl4+p2) -+ HL = EX< 0.0004+ 7.670) X 0.900 =  3.451 kN

FORUMS8




- 25 -

1 1
po= 5 (p3+p4) « H2 = EX( 7.670+ 11.078) X 0.800 =  7.499 kN
P P1 P2 3.451 7.499 10.950 kN
Ph P cos(a 0) 10.950x cos( 1.909°  12.500° ) -10.606 kN
Pv P sin(a d) 10.950x sin( 1.909°  12.500° ) 2.725 kN
2+pl+p2 HI1
M= Pl [ TPR L T
pl+p2 3
2X0.000+7.670 0. 900
= 3.451X X +0. 800
0.000+7.670 3
3.796 kN.m
2+ p3 4  H2
M2: P2 . p——i_p - —
p3+p4 3
2X7.670+11.078 0. 800
= 7.499X X
( 7.670411.078 3 )
2.820 kN.m
M1+M2 3.796+2. 820
= = = 0.604 m
P1+P2 3.451+7. 499
X Xp Ho tana -0.010 0.604x tan1.909° 0.010 m
y yp Ho 0.000 0.604 0.604 m
o
— | }
| |
| Do
| Iy
Lo | : |
~10 ;I Loy
| b
S Iy
|
I |
1
= E « yweh’
_ b
3
Yy w (kN/m*), y w 10.000
(m

(m

FORUMS8
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[1] )
r
il
N
1 Do
- I
P 1ol
: | ! : Fr:g150
| I =<
F1=0.800 I : : [ -
v o -
= b b
L ) o-
| N e ___ 2L
b |
8.000 11.500
h P y
m kN
Q () ™
0.800 -3.200 0.267
1.150 6.612 0.383
[2] )
[
Fi=1.400 [
- x Do
N ' N
I .
: | ! : Fr:g150
I } v
F1=0.800 | | E 12 )
—Z - I
-l ) | |
I [
[ e |
_________________ 1
8.000 11.500
h P v
(m (kN) @)
0.800 -3.200 0.267
1.150 6.612 0.383
[31 )
r
o
Fi=1.400 [
F z Lo
N ‘ N
I bl
; I I : Fr:b150
| I ==
F1=0.800 I I : | -
z [ R
= P |
I } 1
| N N __ 2L
b .
8.000 11.500
h P v
(m (kN) )
0.800 -3.200 0.267
1.150 6.612 0.383

FORUMS8
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2.5
Pp]—[zz FS' ZH - EV'f
Prys : 7J<E|Z}ijj (kN)
|
S H (kN/m?)
>V (kN/m*)
f f 0.700
Pp
F 2 H 2V Pev P,
» (kN/m) (kN/) (kN) (kN)
1.500 26.510 24.715 22.464 93.076
2.6
€))
[1] )
-
| |
| |
- |
[ i ‘
P i l
| i : L
| b )
A [ P )
] ]
| | J[ |
! N _/ !/
(kN.m)
Ne (kN Hi (kN) X (m) Yo m M Ne X M HoYe
51.220 0.000 1.993 0.000 102.100 0.000
-37.050 0.000 2.014 0.000 -74.607 0.000
0.000 6.612 0.000 0.383 0.000 2.535
0.000 -3.200 0.000 0.267 0.000 -0.853
7.582 23.097 3.784 0.921 28.689 21.272
2.963 0.000 0.011 0.621 0.032 0.000
0.000 -22.464 0.000 0.567 0.000 -12.730
24.715 4.045 56.214 10.224

FORUMS8




- 28 -

[2] )
B
. > P
1 I = |
[ .
P |
I . v
| | | ¥ =
P! b
é; i : | !
| ] |
| o
§ J
(KN.)
Ne (kN) Hi (kN) X (m) Yo(m | Me Ne X [ Me o HoYs
95.920 0.000 1.950 0.000 187.030 0.000
-37.050 0.000 2.014 0.000 -74.607 0.000
0.000 6.612 0.000 0.383 0.000 2.535
0.000 -3.200 0.000 0.267 0.000 -0.853
7.582 23.097 3.784 0.921 28.689 21.272
2.963 -8.816 0.011 0.621 0.032 -5.473
69.415 17.693 141.144 17.481
[31 )
—
| |
| |
= s n
. |
| |
0o !
P : Sva
v o I
= 1 [
P [
] |
§ J
(kN.m)
Ni (kN) Hi (kN) X (m) Yo(m | Me Ne Xeo | Me HoYs
95.920 11.494 1.950 0.783 187.030 9.003
-37.050 0.000 2.014 0.000 -74.607 0.000
0.000 6.612 0.000 0.383 0.000 2.535
0.000 -3.200 0.000 0.267 0.000 -0.853
5.945 23.833 3.785 0.876 22.502 20.875
2.725 -10.606 0.010 0.604 0.028 -6.408

FORUMS8
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(KN..m)
Ne (kN He (kN) X (m) Yo m [ Me Ne X M HoY
67.540 28.133 134.953 25.153
N, H M,
(kN) (kN) (kN.m)
( ) 24.715 4.045 45.990
( ) 69.415 17.693 123.663
( ) 67.540 28.133 109.800
@
Ne N (kN)
He  Ho (kN)
Me  No B 2.0 M, (kN.m)
B, 3.800 m
| |
N. He M.
(kN) (kN) (KN..m)
( ) 24.715 4.045 0.968
( ) 69.415 17.603 8.225
( ) 67.540 28.133 18.525
= (5.000m)
N. H M,
(kN) kN (KN-m)
( ) 123.573 20.227 4.840
( ) 347.073 88.467 41.124
( ) 337.608 |  140.667 92.625

FORUMS8



- 30 -

2.7
. >Vu+ « ¢ Pv
° U
> Vu (kN)
a a 0.500
Pv (kN)
U (kN)
2 Vu Pv U
(kN) (kN) (kN) f. f.
) 51.220 10.545 37.050 1.525 1.100
2.8
2.8.1
4 - 2Mr— XMt
Y
d (m
> Mr (kN.m)
> Mt (kN.m)
>V (kN)
e = ——d
e (m
B (m), B 3.800
€. n
€. (m)
n
2 Mr 2 Mt 2V d e €.
(kN.m) (kN.m) (kN) (m (m (m
) 134.953 25.153 67.540 1.626 0.274 1.267

FORUMS8
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2.8.2
P 2V u+GC +B+Pr
o H
>V (kN)
S H (kN)
Y] , b 0.700
Cs (kN/m?), Cs 0.000
B (m), B 3.800
Pr
> V(kN) > H(kN) Pr (kN) Fs Fe
( ) 24.715 26.510 22.464 1.500 1.500
2.8.3
1) 1/3
2V, 8
1 B B
_ V(e
dz B B
2) 2/3
22V
Q= —
3. (B/2—e)
>V (kN)
B (m), B 3.800
e (m)
1 <« )
(kN/m?)
(m) -
X B gmin gmax
3.800 14.849 21.685 1000.000
1.782 0.
1. 900

FORUMS8
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3
3.1
1)
[1]
W y A
(kN/m?)
24.500 x 0.250 6.125
24.500 x 0.300 7.350
24.500 x 0.250 6.125
24.500 x 0.300 7.350
W N B
27.930 3.500
7.980 (kN/m*)
N (kN)
B (m
2)
pl = Hf - Gw
pr = Hr « Gw
, pr — pl T1
1 = 1 + X — X
p (p B 5 Y
, pl — pr Tr
= + X —| X
pr (pr B 5 Y
pl* pl pr® pr
pl (kN/m?)
pr (kN/m?)
pl* (kN/m?)
pr- (kN/m?)
Hf (m
Hr (m)
Tl m TI 0.300
Tr (m Tr  0.300
(m) B 3.500
(KN/m*) Gw  10.000
% 1.000
(m) D) (kN/n) (KN/i) (kN/i) (KN/n)
0.800 1.150 8.000 11.500 8.138 11.362

FORUMS8
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1 + pl’ T1
D pl”

Pl = — X
2 2 77
’ T
Przgiiﬁix—ixy
2 2
Pl (kN/m)
Pr (kN/m)
y y 1.000
Pl Pr
(KN/m) (KN/m)
1.210 1.715
3.2
[1] ( )
C )
H 2.050 m
H1 1.050 m
H2 1.000 m
a 1.507 °
ys 18.000 kN/m?
@ 25.000 °
B 0.000 °
) 16.667 °
% A5 Sy At AR IR T
X \' 2 X\’ X 2 /X
I, = 1+|— | ———{1+[— | ltan!|{— | ——|—
Hw 7T Hw Hw s Hw

0.856\"° 2

= —— 11+
2. 200 n

= 0.63183

T E OB S E
a = vy *H+ I,
= 18.000X 1. 111X0. 63183
12.637 kN/m?

0.856\°| |
tan
2. 200

2.200/ 7«

0.856\ 2
T

0. 856
2.200

|

FORUMS8
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pl

p2

p3

X (m) X1 X2 2

X1 (m), X1 0.300
X2 m), X2 1.111
H, (m

He Ho  Hi(m)

Ho m H 0.500

H: (m H q v 0.611
q (kN/m») g 11.000

cosz(([)—oa)

cos(aw+6) *cos(a—1R
cos?(25.00° —1.507° )
cos’1. 507° + cos(1.507° +16.667° )
1

, sin(¢p+6) + sin(¢p — B8
cos’a *cos(a+6) |1+

X

jz

cos (1.507° +16.667° ) + cos(1.507° —0.000°

{1_'_\/ sin(25.00° +16.667° ) - sin(25.00° —0.000°

0.3717

q K 12.637x 0.3717 4.696 kN/m?

= K+ ys<Hl+pl
= 0.3717X18.000X 1. 050+4. 696
11.721 kN/m?

= K+ (ysat—yw) » H2+p2
= (.3717x(19. 000—10. 000) X1.0004+11. 721
15.066 kN/m’

ph p cos(a &)
pv p sin(a &)

(KN/nT) (KN/1) (KN/1)

pl 4.696 4.462 1.465
p2 11.721 11.136 3.656
p3 15.066 14.314 4.699

P1

1 1
= o « (pl+p2) - HL = EX( 4,696+ 11.721) X 1.050

{

8.619 kN

FORUMS8
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Ph

Pv

Phs

Pvs

Phs
Phl
Phu
Pvs
Pvi
Pvu

P1

1
« (p247p3) +H2 = E§><( 11. 721+ 15.066) X 1.000

P2 8.619 13.393 22.012 kN
cos(a o) 22.012x cos( 1.507°  16.667° )
sin(a 9) 22.012x sin( 1.507° 16.667° )
Phl Phu 23.097 20.914 2.183 kN
Pvl Pvu 7.582 6.866 0.717 kN
(kN)
(kN)
(kN)
(kN)
(kN)
(kN)
)
H 1.550 m
H1 0.900 m
H2 0.650 m
a 1.909 °
Yy s 18.000 kN/m’
[0} 25.000 °
B 0.000 °
0 16.667 °

= 13.393 kN

20.914 kN

6.866 kN

FORUMS8
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cos’(¢p—a)

K fr—
Sin(6 +0) -sin(6—B)
cos’a *cos(a+98) « |1+
cos(a+98) *cos(a—p
cos?(25.00° —1.909° )
cos®l.909° - cos(1.909° —+16.667° )
1
X
2
. sin(25.00° +16.667° ) - sin(25.00° —0.000°
cos(1.909° +16.667° ) « cos(1l.909° —0.000°
0.3746
pl g K 1.000x 0.3746 0.375 kN/m®

p2= K+ ys+Hl+pl
= 0.3746X18. 000X 0. 900+0. 375
6.443 kN/m?

p3= K+ (ysat—yw) - H2+p2

= 0.3746 X (19. 000— 10. 000) X 0. 650+6. 443

8.634 kN/m’

ph p cos(a &)
pv p sin(a o)

(KN/m) (kN/1TP) (kN/1TP)

pl 0.375 0.355 0.119
p2 6.443 6.107 2.052
p3 8.634 8.185 2.751

1 1
Pl= 5 (pl4+p2) -+ HL = EX< 0.375+

1 1
p2= 5 (p2+p3) *H2 = EX< 6. 443+

P P1 P2 3.068 4.900 7.968 kN

Ph P cos(a &)

7.968x cos( 1.

6.443) X 0.900 =  3.068 kN

8.634) X 0.650 = 4,900 kN

909°  16.667° ) 7.553 kN

FORUMS8
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Pv P sin(a &) 7.968x sin( 1.909° 16.667° ) 2.538 kN
Phs Phl Phu 8.817 7.553 1.264 kN
Pvs Pvl Pvu 2.963 2.538 0.425 kN
Phs (kN)
Phl (kN)
Phu (kN)
Pvs (kN)
Pvi (kN)
Pvu (kN)
3.3
3.3.1
pi = hi - Gw
pi (kN/m?)
hi (m)
Gw (KN/m*)  Gw 10.000
i T
po — ot pi T
2 2
Po (kN/m)
po (kN/m?)
T m T 0.300
[1]
1
| |
L
-
ol o
{ ) | |
P o Fr=1.150
Lo b v
F1=0.800 ro o =
v o rot
= P b
1 | | |
[ J [
P1=1.087 TTTTTTTTTTTTTT T T L Pr=—1.612
6.500 Lo o o 4 —10.000

FORUMS8




- 38 -

hi pi ho po Po
(m) (KN/m?) (m) (KN/m?) (kN/m)
0.650 6.500 0.800 8.000 1.088
1.000 10.000 1.150 11.500 1.613
3.3.2
Pp]—[zz FS' ZH - ZV'f
Py + ZKESL ST (kN)
|
S H (kN/m?)
sV (KN/m?)
f f 0.700
Pp
2P
PHZ — H PH2
, Py« H
PHZ — H2 H
P b
P — H2+ PHZ % l
2 2
P., (kN/m?)
Po" (kN/m?)
H (m
H* (m
P (KN/m)
T (m T  0.300
F 2 H 2V Pere P,
: (kN/m?) (kN/m?) (kN) (kN)
1.500 26.509 24578 22.560 93.076
H H® P P " p
(m) (m) (KN/m?) (KN/m?) (kN/m)
1.700 1.550 26.541 24.199 3.806
3.3.3
1)
_ Mo
V
B
= — —d
2

FORUMS8
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2) 1/3
V be
gmax = — -« [1+—
B B )
o e
gqmin B B )
3) 2/3
2V
gmax =
3+ (B/2—e)
gmin = 0.0
v (kN)
Mo - (kN.m)
d (m
e (m)
gl (kN/m?)
qr (kN/m?)
e 0.0 gl gmax qr gmin
e 0.0 gl gmin qr gmax
B (m) B 3.500
v Mo d e ql qr
(kN) (kN.m) (@m) (m) (kN/m?) (kN/m?)
24.578 42.145 1.715 0.035 7.446 6.598
= 1
TR
H (kN)
H gh
(kN) (KN/m)
3.950 1.128

FORUMS8
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3.3.4

[1]

iy

m ) (KN/m) (KN/m)
0.000 1.500 6.125 7.350
0.000 1.900 6.125 7.350
0.000 3.500 7.980 7.980
1.400 0.100 0.000 2.450
1.800 0.100 0.000 2.450

m m (kN/m) (KN/m?)
0.100 0.900 0.119 2.052
1.000 0.650 2.052 2.751
1.650 0.000 0.425 0.000
0.000 1.050 |  -4.462 -11.136
0.000 1.050 1.465 3.656
1.050 1.000 | -11.136 -14.314
1.050 1.000 3.656 4.699
2.050 0.000 | -2.183 0.000
2.050 0.000 0.717 0.000
0.100 1.550 0.000 24.199
1.650 0.000 3.806 0.000
1.000 0.650 0.000 6.500
1.650 0.000 1.088 0.000
1.050 1.000 0.000 ~10.000
2.050 0.000 | -1.613 0.000

m m (KN/m) (KN/m)
0.000 3.500 | -8.138 -11.362
0.000 0.000 | -1.210 0.000
3.500 0.000 | -1.715 0.000

) ) (KN/m) (KN/m)
0.000 3.500 | -7.446 -6.598

FORUMS8
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m

(m

(kN/m)

(kN/m)

0.000

3.500

1.128

1.128

FORUMS8
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3.3.5
11« )
1)
1. 283
2.604
7. 348/~
2)
~10. 008
------ -18. 211
-------- 22 415
3)

6. 539
8.420

12. 367}

FORUMS8
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3.3.6
1
| |
| |
= B
P o
I | | |
| | | |
| | | i
ol . P
EEL ; | EEL !
Z 1 - b
Lo k1 -
I T T
[ S <
| |
b -
D « )
1 1
0.200 | 0.700
2) « )
1 1
0.400 | 0.610
1
D .
X+ S fAs - (x—d)}=0.0
LVxZERDD,
. M
T ek hox x—d) + (h/2—d)
——=)+n-As-
2 2 3) X
d—x
o, =n°* o,
X
X (mm)
h (mm)
b (mm) b 1000.000
d (mm)
As (mm?)
n n 15.00
e
ocC (N/mm?)
oS (N/mm?)
M (N_.mm)

(mm)

FORUMS8
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2)
S
Ton — : é T al
b-d
L
Sk N)
d (mm)
(mm)
T al
[11
D
W T
o . to—
S mE
(cm) @/ ) (cm?)
1| — | —
2| — | —
1 7.0 D10 0.713 8.00 5.706
2 - N
4.069 (cm?)

(N/mm?)

[HAL : mm]

(N/mm?)

FORUMS8
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2)
( )
M kN_m 16.018
N kN —_—
S kN 22.415
B mm 1000.0
H mm 333.0
d mm 263.0
A cm’? 5.706
A" cm? 0.000
X mm 59.104
o N/mm? 2.229
(o8 N/mm? 8.000
o
o- N/mm? 115.362
O s N/mm? 160.000
o
T N/mm? 0.085
T a N/mm? 0.390
o
[2] [1]1 0.200 m
D
N
& . ;
L]
(cm) (cm’/ ) (cm®)
1| — | —
2| — | —
1 7.0 D13 1.267 4.00 5.068
2 | — | —
3.556 (cm?)

[B{Z : mm]

FORUMS8
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2)
)
M kN_m 11.965
N kN E—
S kN 18.211
B mm 1000.0
H mm 295.0
d mm 225.0
A cm’? 5.068
A" cm? 0.000
X mm 51.387
o N/mm? 2.241
(o8 N/mm? 8.000
o
o- N/mm? 113.564
O s N/mm? 160.000
o
T N/mm? 0.081
T a N/mm? 0.260

FORUMS8
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[3] [1] 0.700 m
( )
M kN_m 5.047
N kN —_—
S kN 10.008
B mm 1000.0
H mm 282.0
d mm 212.0
A cm’? 5.068
A" cm? 0.000
X mm 49.674
o N/mm? 1.040
(o8 N/mm? 8.000
o
o- N/mm? 50.957
O s N/mm? 80.000
o
T N/mm? 0.047
T a N/mm? 0.260
o
[4]
D
P
S ) é
A
(cm) (cm’/ ) (cm®)
1" | 10.3 D10 0.713 8.00 5.706
2| — —
1 7.0 D10 0.713 8.00 5.706
2 | — | —
1.829 (cm?)

[BfL : mm]

FORUMS8
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2)
( )
M kN_m 7.348
N kN —_—
S kN 16.550
B mm 1000.0
H mm 333.0
d mm 263.0
A cm’? 5.706
A" cm? 5.706
X mm 59.104
o N/mm? 1.023
(o8 N/mm? 8.000
o
o- N/mm? 52.922
O s N/mm? 160.000
o
T N/mm? 0.063
T a N/mm? 0.390
o
[5] [1] 0.400 m
D
P
ST ;
S mE
(cm) (cn/ ) (cm?)
7.0 D10 0.713 4.00 2.853
7.0 D13 1.267 4.00 5.068
0.776 (cm?)

[BfL : mm]

FORUMS8
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2)
( )
M kN_m 2.604
N kN E—
S kN 7.856
B mm 1000.0
H mm 287.0
d mm 217.0
A cm’? 5.068
A" cm? 2.853
X mm 50.344
o N/mm? 0.517
(o8 N/mm? 8.000
o
o- N/mm? 25.659
O s N/mm? 160.000
o
T N/mm? 0.036
T a N/mm? 0.260

FORUMS8
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[6] [1] 0.610 m
( )
M kN_m 1.283
N kN E—
S kN 4.872
B mm 1000.0
H mm 280.0
d mm 210.0
A cm’? 5.068
A" cm? 2.853
X mm 49.424
o N/mm? 0.268
(o8 N/mm? 8.000
o
o- N/mm? 13.079
O s N/mm? 80.000
o
T N/mm? 0.023
T a N/mm? 0.260
o
3.4
3.4.1
pi = hi - Gw
pi (kN/m?)
hi (m)
Gw (kN/m®)  Gw 10.000
Po = Ppo T Pl + pi X I
2 2
Po (kN/m)
po (kN/m?)
T (m T 0.300

FORUMS8
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[1]
r
o
N
1 Do
- P
- o
- Pl Fr=1.150
| P
F1=0.800 ! I [
v Vo I
= P o
L )
P1=1.087 e — | Pr=—1.612
6.500 L0 o 1 —10. 000
hi pi ho po Po
(n) (KN/) (n) (kN/m) (kN/m)
0.650 6.500 0.800 8.000 1.088
1.000 10.000 1.150 11.500 1.613
3.4.2
pPHZ: FS' EH - EV'f
Py o 7K T (kN)
F. : e
2 H (kN/m?)
zV (kN/m*)
f f 0.700
Pp
2P
PHZ — H PH2
, Py« H
PHZ — HZH
_ Pyt Py’ « l
2 2
Pz (kN/m?)
Pi" (kKN/m?)
H (m
H* (m
P (kN/m)
T (m) T 0.300
F 2 H >V Pore P,
° (KN/m?) (kN/m?) (kN) (kN)
1.500 26.510 24.715 22.464 93.076

FORUMS8
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H H® P P " P
(m) (m) (KN/m?) (KN/m?) (kN/m)
1.700 1.550 26.429 24.097 3.789
3.4.3
D
Mo
d = —
v
B
e = — — d
2
2) 1/3
v 6e
gmax = — - [1+—
Han
S SO )
qmin B B
3) 2/3
2v
gqmax = ——————
3+ (B/2—e)
gmin = 0.0
v (kN)
Mo - (kN.m)
d (m
e (m)
ql (kN/m?)
qr (kN/m?)
e 0.0 gl gmax qr gmin
e 0.0 gl gmin qr gmax
B (m) B 3.800
\ Mo d e ql qr
(kN) (KN.m) (m) (m) (KN/m?) (KN/m?)
24.715 45.990 1.861 0.039 6.906 6.102

FORUMS8
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— ql T1
ql’:ql + qr—qx -

B 2

, gl — aqr Tr
r=q + ——X —
d d B 2

L., EBROEDHLRSD%E1E a1’ =ql, qr’ =ar

o= H
q 5
gl” (kN/m?)
qr” (kN/m?)
gh (kN/m?)
Tl m TI 0.300
Tr (m) Tr 0.300
(kN)
B* (m) B" 3.500
gql*” qr" H gh
(kN/m?) (kN/n) (kN) (kN/?)
6.874 6.134 4.045 1.156
al ql + g1’ E
2 2
o = qr + qr % T_r
2 2
0l (kN/m)
Qr (kN/m)
ql Qr
(kN/m) (kN/m)
1.034 0.918

FORUMS8
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3.4.4

[1]

LT

Q) Q) (kN/m) (kN/m)
0.000 1.500 6.125 7.350
0.000 1.900 6.125 7.350
0.000 3.500 7.980 7.980
1.400 0.100 0.000 2.450
1.800 0.100 0.000 2.450

0 (m (kN/m) (kN/m)
0.000 0.000 0.042 0.000
0.000 0.000 0.095 0.000

0 0 (kN/m) (kN/m)
0.100 0.900 0.119 2.052
1.000 0.650 2.052 2.751
1.650 0.000 0.425 0.000
0.000 1.050 | -4.462 | -11.136
0.000 1.050 1.465 3.656
1.050 1.000 -11.136 -14.314
1.050 1.000 3.656 4.699
2.050 0.000 | -2.183 0.000
2.050 0.000 0.717 0.000
0.100 1.550 0.000 24.097
1.650 0.000 3.789 0.000
1.000 0.650 0.000 6.500
1.650 0.000 1.088 0.000
1.050 1.000 0.000 | -10.000
2.050 0.000 | -1.613 0.000

0 0 (kN/m) (kN/m)
0.000 3.500 | -8.138 | -11.362
0.000 0.000 | -1.210 0.000

FORUMS8
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0 0 (kN/m) (kN/m)
3.500 0.000 | -1.715 0.000
) 0 (KN/m) (KN/m)
0.000 3.500 | -6.874 -6.134
0.000 0.000 | -1.034 0.000
3.500 0.000 | -0.918 0.000
0.000 3.500 1.156 1.156

FORUMS8
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3.4.5

[1]

D

€02 ¢

~AI€G '8

2)

1696 “6—

3)

L€S°63

189 °L¢

8€8 "4¢

FORUMS8



- 57 -

3.4.6
=
| |
| ]
= !
0o |
{ | | |
| | | |
| | | ]
| | | |
! | | |
! | | ]
| | | |
| | | |
o b
| N e ___ ]
| |
e F _____________ } N
1’ 2 3’
1)
1 2 3
0.150 | 1.750 | 3.350
2)
1 2’
0.150 | 3.350
€Y
2+*n
x*+ . {As- (x—d)}=0.0
L x&ERDD,
M
o. —
b+ x h x x—d) - (b 2—4d)
s |—=———=]4+n-As-
( 2 3 ) X
d—x
O: — n g, °*
X
X (mm)
h (mm)
b (mm) b 1000.000
d (mm)
As (mm?)
n n 15.00
e (mm)
oc (N/mm?)
oS (N/mm?)
M (N.mm)
[1] [1] 0.150(m), 3.350(m)

FORUMS8
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1)
+ m
gl v s
= ) mE
= [ : mm]
T
(cm) (cm’/ ) (cm®)
1 10.0 D13 1.267 8.00 10.136
2" — —
1 10.0 D13 1.267 8.00 10.136
2 - P
2.843 (cm?)
2)
( )
M kN.m 8.531
N kN E—
S kN  —
B mm 1000.0
H mm 300.0
d mm 200.0
As cm’ 10.136
A cm’ 0.000
X mm 64.233
o. N/mm? 1.487
0 a N/mm’ 8.000
(@]
o N/mm? 47.136
O« N/mm? 160.000
(@]
[2] [2] 1.750(m), 1.750(m)
1)
+ m
gl v “ls
= ) -+
= [ : mm]
T &

FORUMS8
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(cm) (cm’/ ) (cm®)
1" 10.0 D13 1.267 8.00 10.136
2" — —
1 10.0 D13 1.267 8.00 10.136
2 PR -
1.081 (cm?)
2)
( )
M kN.m -3.320
N kN E—
S kN E—
B mm 1000.0
H mm 300.0
d mm 200.0
A, cm’ 10.136
A" cm’ 0.000
X mm 64.233
o. N/mm? 0.579
0 « N/mm? 8.000
(@]
o N/mm? 18.345
0« N/mm? 160.000
o
[31 [31 3.350(m), 0.150(m)
1)
+ m
3 . Z
= [BfE : mm]
T ®
(cm) (cm’/ ) (cm®)
| — | —
2| — | —
1 10.0 D13 1.267 8.00 10.136
2 PR -
5.827 (cm?)

FORUMS8
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2)
( )
M kN_m 17.057
N kN E—
S kN —_—
B mm 1000.0
H mm 300.0
d mm 200.0
As cm? 10.136
A" cm? 0.000
X mm 64.233
o N/mm? 2.972
(o8 N/mm? 8.000
o
o- N/mm? 94.242
O s N/mm? 160.000
o
@
T, = b%d = ta
T, (N/mm?)
Sh N)
d (mm)
b (mm)
T u (N/mm?)
[1] [1] 0.150(m), 3.350(m)
( )
M kN.m E—
N kN E—
S kN 9.969
B mm 1000.0
H mm 300.0
d mm 200.0
T N/mm? 0.050
T N/mm? 0.390
o

FORUMS8
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[2] [2] 3.350(m), 0.150(m)
( )
M kN.m E—
N kN e
S kN 16.508
B mm 1000.0
H mm 300.0
d mm 200.0
T N/mm* 0.083
T a N/mm* 0.390
o

FORUMS8
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